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gmatit &

score q47 q48 q49 qs0 g51
v22 570 580 600-610
v23 570-580 590 610|610-620
v24 610/620-640 640
v25 590 600/610-620 |630-640 [640-650
v26 600 610 630|640-660 |640-650
v27 600-610 [610-620 620|640-650 |650-660
v28 610-620 630 640|650-660 |670-680
v29 640 640|640-650 |650-670 [650-690
v30 630(640-650 |640-660 |660-680 [680-690
v31 650(660-670 |680-700 |690-700
v32 660|660-680 |680-700 700
v33 660(650-670 680|680-700 |700-710
v34 650(660-690 690|700-710 |710-720
v35 680|700-710 |700-710 ([710-720
v36 680 680 710|710-720 |720-730
v37 680 690(700-710 |710-730 730
v38 690 710 710|720-730 |730-740
v39 710(710-720 |720-740 750
v40 700-710 710|720-730 |730-750 750
v41 710 730 740|750-760 |750-760
v42 720 730 750|750-770 |760-770
v43 740 760-770
v44 750 770 770
v45 760-770 770 780
v46 780 780
v47 760 770 780
v48 780 780
v49 760
v50
v51 790 790

L — —*

51 +15331~334 = 7005
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Lecture Two
GMATH =X E!

ATRFIRER:

* PS#iZl——Problem Solving

o DSFiZ!l——Data Sufficiency

| PSERE!
&, 51E|IHEER

Problem Solving

2. DS —Data Sufficiency
2.1 e

-DS{HIRR

Tom and Jack are in a line to purchase tickets. (ZF)

How many people are in the line? ([g]ZR)
(1) There are 20 people behind Tom and 20 people in front of Jack.
(2) There are 5 people between Tom and Jack. (£&14)

-DSIE IR

(A) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

(B) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(C) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
(D) EACH statement ALONE is sufficient.

Statement (1) and (2) TOGETHER are NOT sufficient. (& EZEIN)

22 DSEBSE

MiE AN
RGeStk
HETE—REREEma  (ZHS)
FlTRIE—MERE A (IZ2705)

2.2.1 $5REEO) A

TOEFL,SAT,IELTS,GRE,GMATH X EEIX &R E E IR EIRM (SmartStudy.com) 16
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EE

755>
T

-5 :
| What is the value of x ?

(N 3x=6 ME—H, Z&H
) X*= 4 F—, F7E4H

(A) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

(B) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(C) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
(D) EACH statement ALONE is sufficient.

(E) Statement (1) and (2) TOGETHER are NOT sufficient.
BR: A

2.Tom and Jack are in a line to purchase tickets. How many people are in the line?
(1) There are 20 people behind Tom and 20 people in front of Jack.
(2) There are 5 people between Tom and Jack.

(A) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

(B) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(C) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is  sufficient.

(D) EACH statement ALONE is sufficient.

(E) Statement (1) and (2) TOGETHER are NOT sufficient.
BERE

2.2.2 — &[0 A
KR

75
RFES

-l

Is x equal to | ?

(1) X* = | #EBET, FTxH
Q) X =4 REFE, KH

TOEFL,SAT,IELTS,GRE,GMATH X EEIX &R E E IR EIRM (SmartStudy.com)
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(A) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

(B) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(C) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
(D) EACH statement ALONE is sufficient.

(E) Statement (1) and (2) TOGETHER are NOT sufficient.
E#®: B

*[X 7| DSRR— % £ o) AR us (8] 7%

There are eight balls in the pocket. (FF)

Question |:Are all the balls in the pocket red? (EHFTBEREKEZLERE? )
Question 2:Are there any red balls in the pocket? (FIBLZEHIEKIZ? )

There are eight balls in the pocket. (FF)

Question I:Are all the balls in the pocket red?

Question 2:Are there any red balls in the pocket?

Statement |:Three balls are removed; whose colors are brown, green, and red, respectively.
Statement 2: Three balls are removed; whose colors are brown, green, and yellow, respectively.

Statement 3: Three balls are removed; whose colors are red, red, and red, respectively.

2.3 DSEA R BEE R

AR FI i
S AT —RBERMAETE R SERL T

2.4 DSEAZHT A

Each person on a committee with 40 members voted for exactly one of 3 candidates, F G, or H.
Did Candidate F receive the most votes from the 40 votes cast?

() Candidate F received || of the votes.

(2) Candidate H received 14 of the votes.

(A) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

(B) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(C) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

(D) EACH statement ALONE is sufficient.

(E) Statement (1) and (2) TOGETHER are NOT sufficient.
BRA

TOEFL,SAT,IELTS,GRE,GMATH X EEIX &R E E IR EIRM (SmartStudy.com) 18
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Lecture Three
EAREIL

ATRFIRER:
. FEH
s EHSFREH
s RARANSHRNAEH
.« R¥
o M. HEERFITEE
o LEERSLLH

|58 518%% (Odd and Even Numbers)

o513 :

2
| If x and y are integers and XY is a positive odd integer, which of the following must be true?
l. xy is positive.
Il. xy is odd.

lll. x + y is even.

(A) I only

(B) Il only

(©) 1l only

(D) | and Il only
(E) Il and Il only

2.1s x an even integer?
(I)x is the square of an integer.

(2)x is the cube of an integer.

3. If a and b are positive integers such that a —b and a /b are both even integers, which of the
following must be an odd integer?

(A)al/2

(B) b /2

TOEFL,SAT,IELTS,GRE,GMATH X EEIX &R E E IR EIRM (SmartStudy.com) 20
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(C) (a+b) /2
(D) (a+2) 12
(E) (b +2) 12

2. A5 R E % (Factors and Prime Factors)
Pl -

_ n+l n+2 n+3
LIf Y =XFEXTHXTHX and if x =—1, and n is the sum of the first 404 prime numbers, then y=

(A) -2
(B) -
©0
(D) |
(E)2

2.If y is the smallest positive integer such that 3,150 multiplied by y is the square of an integer, then
y must be

(A)2

(B) 5

(OX

(D) 7

(E) 14

3. If positive integer x is a multiple of 6 and positive integer y is a multiple of 14, is xy a multiple of
105?
(1) x is a multiple of 9.

(2) y is a multiple of 25.

4. How many different prime numbers are factors of the positive integer n ?
(I')Four different prime numbers are factors of 2n.

(2)Four different prime numbers are factors of n2.

5. n is a factor of the product of all the odd integers from 99 to 199, inclusive. If n=5k, then the
greatest possible value of k is

(A) 10

(B) 12

TOEFL,SAT,IELTS,GRE,GMATH X EEIX &R E E IR EIRM (SmartStudy.com) 21
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©) 13
(D) 15
(E) 20

6. How many factors does 360 have?
(A) 24

(B) 36

(C) 48

(D) 120

(E) 360

3R AKNANAKEHR/INAEE (Greatest Common Divisors and Least Common Multiples
P

{5l R -

I.If nis a positive integer and the greatest common divisor of (n —I)!, (n +1)!,and (n +3)! is 120,
then n =

(A)2

(B) 3

(€4

(D) 5

(E) 6

2.1f M is the least common multiple of 90, 196, and 300, which of the following is NOT a factor of
M?

(A) 600

(B) 700

(C) 900

(D) 2,100

(E) 4,900

3.The greatest common divisor of a and b is 21, and the least common multiple of a and b is 126,
where a and b are positive integers, what is the sum ofaand b ?

(A) 105

(B) 147

(C) 150
TOEFL,SAT,IELTS,GRE,GMATE A EE X SR B B HIHFTREIRM (SmartStudy.com) 22
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(D) 105 or 147
(E) 105 or 150

4.Three sorts of juices are served at a party. Every 2 guests share a bottle of apple juice, every 3
guests share a bottle of lemon juice, and every 4 guests share a bottle of orange juice. If 65 bottles
of juices are drunk off finally, how many guests are at this party?

(A) 12

(B) 24

(C) 36

(D) 48

(E) 60

4.7 %1 (Remainders)
I
I.When 20 is divided by the positive integer k, the remainder is k — 2, which of the following is a
possible value of k ?
(A)8
(B) 9
© 10
(D) 11
(E) 12

2.What is the sum of the remainders when the first 40 positive integers are divided by 6 ?
(A) 96

(B) 100

(©) 120

(D) 132

(E) 136

3.What is the remainder when the positive integer x is divided by 8 ?
(1) When x is divided by 12, the remainder is 5.
(2) When x is divided by 18, the remainder is | I.

4.1f n is a positive integer, what is the remainder when 3" + 2 is divided by 5?

TOEFL,SAT,IELTS,GRE,GMATH X EEIX &R E E IR EIRM (SmartStudy.com) 23
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(A0
(B) |
©2
(D) 3
(E) 4

S5NE. DEEREITEUE (Decimals, Fractions, and Scientific Notation)
AR BT BFRT7654.3217, HA:
-“7”: thousands
-“6”: hundreds
-“5”: tens
-“4”: units (or ones)
-“”" : decimal point
-“3”: tenths
-“2”: hundredths

-“1”: thousandths

I

[.3.20A6

If o and A each represent single digits in the decimal above, what digit does o represent?
(1) When the decimal is rounded to the nearest tenth, 3.2 is the result.

(2)When the decimal is rounded to the nearest hundredth, 3.24 is the result.

2.If x is 0.abc, where a, b, and c are the tenths, hundredths and thousandths digits of x, respectively,
is x greater than 2/3?

(I)atb>14.

(2) atc>15.

3. Any decimal that has only a finite number of nonzero digits is a terminating decimal. For
example, 24, 0.82, and 5.096 are three terminating decimals. If r and s are positive integers and the
ratio is expressed as a decimal,is a terminating decimal?

(1)90<r<100

2)s=4
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4.Which of the following fractions has a decimal equivalent that is a terminating decimal?
10
(A) 189
15
(B) 196
16
(C) 225
25
(D) | 44

39
(E) 128

(0.1667)(0.8333)(0.3333)
(0.2222)(0.6667)(0.1250)

5. Of the following which best approximates
(A) 2.00
(B) 2.40
(C) 243
(D) 2.50
(E) 3.43

6. What is the least number of digits (including repetitions) needed to express 10 in decimal
notation?

(A) 4

(B) 100

(©) 10l

(D) 1,000

(E) 1,001

7.1§10° =74 is written as an integer in base decimal notation, what is the sum of the digits in that
integer?
(A) 424
(B) 431
(C) 440
(D) 449
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(E) 456

6.LL R 5L 15 (Ratios and Proportions)
othe ratio of Ato B R; <N A:B.
*There is twice as much A as B ®R7;x W A =2B.

il -

|.A certain fraction is equivalent to 2/5 . If the numerator of the fraction is increased by 4 and the
denominator is doubled, the new fraction is equivalent to 1/3.What is the sum of the numerator
and denominator of the original fraction?

(A) 21

(B) 26

(C) 28

(D) 35

(E) 49

2. If an automobile average 22.5 miles per gallon of gasoline, approximately how many kilometers
per liter of gasoline did the automobile average? (1 mile = |.6 kilometers and | gallon = 3.8 liters,
both rounded to the nearest tenth.)

(A) 3.7

(B) 9.5

(C) 314

(D) 53.4

(E) 136.8

3. A merchant purchased a jacket for $60 and then determined a selling price that equaled the
purchase price of the jacket plus a markup that was 25 percent of the selling price. During a sale,
the merchant discounted the selling price by 20 percent and sold the jacket. What was the
merchant’s gross profit on this sale?

(A) $0

(B) $3

(C) $4

(D) $12

(E) $15
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4.In a certain formula, p is directly proportional to s and inversely proportional to r.If p = | when
r = 0.5 and s = 2, what is the value of p in terms of r and s ?

(A) s/r

(B) r/4s

(C) s/4r

(D) rls

(E) 4rl/s

5. A certain quantity is measured on two different scales, the R-scale and the S-scale, that are
related linearly. Measurements on the R-scale of 6 and 24 correspond to measurements on the S-
scale of 30 and 60, respectively. What measurement on the R-scale corresponds to a measurement
of 100 on the S-scale?

(A) 20

(B) 36

(C) 48

(D) 60

(E) 84
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Lecture Four

RETHE

AR
e
. AR
. FER
. HSiEH
. %5

| $580ZE (Rules of Exponents)

(am )n — amn

a" xb™ =(axb)"
a" +b" =(a+b)"

o {51 :

(8)’Gr ) _
| (96)
(A) 3
(B) 6
©)9
(D) 12
(E) 18

_ 64 _ Ak
2.IfP_2 and pr=2 ,then k =
(A) 70
(B) 128
(C) 256
(D) 264
(E) 270
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3.The function f is defined for each positive three-digit integer n by f(n) =2°3'5" , where x, y and z
are the hundreds, tens, and units digits of n, respectively. If m and v are three-digit positive integers
such that f(m) = 9f(v), then m —v =?

(A) 8

(B) 9

(€ 18

(D) 20

(E) 80

2.8 75 %2 (Equations)
—ITRT5FE ax’ +bx+c=0

_ —-bt+b*—4ac

X =
FRERAR 2a

R
|.A square playground has the same area as a rectangular playground that is 30 meters longer but

20 meters narrower.What is the length, in meters, of a side of the square playground?
(A) |0\/§
(B) IO\/g

(C) 25
(D) 50
(E) 60

2. A certain theater has 100 balcony seats. For every $2 increase in the price of a balcony seat
above $10, 5 fewer seats will be sold. If all the balcony seats are sold when the price of each seat is
$10, which of the following could be the price of a balcony seat if the revenue from the sale of
balcony seats is $1,360 ?

(A) $12

(B) $14

(C) $16

(D) $17

(E) $18
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3. If the sum of two positive integers is 24 and the difference of their squares is 48, what is the

product of the two integers!?
(A) 108
B) 119
(©) 128
(D) 135
(E) 143

4. IfX_\/B:X"‘\/B,then X=

5.What is Steve’s annual salary and Maria’s annual salary?

(1) The combined total of the annual salaries of Steve and Maria is $80,000.

(2) If Steve were to receive a |10 percent increase in annual salary and Maria an 10 percent

increase, their combined annual salaries would be $88,000.

5.18%K
STEENAEXFLNEARSI A, AESEEEXRTHE

2iE
gt P W x g x X X EE M R — R AR
%, X0, TUANES BRI, XixB B B R 4 B

ox<-1, -1<x< 0, 0<x< I, x>

ZEXHE: |x| 1BIERA

o {5 -

I.1f x > 0.9, which of the following could be the value of x ?

) Vos!
@® Vo9

(©) (0.9)
(D) (0.9) (0.9)

(E)I—\/m

2.1 x = 0,is |x| < | ?
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(1 x> <I

|
<
X

2)

3.Which of the following inequalities has a solution set that, when graphed in the number line, is a
single line segment of finite length?

(A)x* =16

(B)x’ <27

(C)x* =16

(D)2<|x|<5

(E)2<3x+4<6

6.7 51zE
FEHESEXTNERFMZE RN, BEHizE

o {513 :

|. For all real numbers v, the operation v* is defined by the equation v* = v — v/3.If (v¥)* = 8, then v

(A)15
(B)18
(©)21
(D)24
(E)27

2. If the operation © is defined for all integers a and b by a © b = a + b — ab, which of the following
statements must be true for all integers a, b,and ¢ ?

LaoOb=boa
Il.aco0=a

lll. @ob)oc=a0(b0oc)

(A) | only
(B) Il only
(C)l and Il only
(D) 1 and I1l only
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(E) I, 11 and Ill

3. If © denotes one of two arithmetic operations, addition or multiplication, and if k is an integer,

what is the value of 3 © k?

() 20k=3
2 100=k
7.45%1

ZEZH1% (Arithmetic Sequence)
£ #1% (Geometric Sequence)

R

|. How many integers between 234 and 567, inclusive, are the multiples of 5 ?
(A) 62

(B) 65

(C) 67

(D) 69

(E) 71

2. If the sum of 7 consecutive integers is 434, then the greatest of the 7 integers is
(A) 65
(B) 66
(C) 67
(D) 68
(E) 69

3.In the sequence 1,2,4,8, 16,32, ..., each term after the first is twice the previous term.What is
the sum of the 16th, | 7th, and |8th terms in the sequence?

(A)2I8

(B)3(27)

(©)7(2°)

(D)3(2°)

(E)7(2°)
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4.In a certain sequence, the first term is |, and each successive term is | more than the reciprocal

of the term that immediately precedes it.VWhat is the fifth term of the sequence?

Ok

5
®)g
8
©r
5
©);
9

®)

al,az,...an, —

, a =a —a L a =
5.The sequence .. is such that » “n»! "n2 for all positive integers n > 2. If !

and %2 ! , what is the sum of the first 1000 terms in the sequence?
(A)O

(B) 3

(C) 750

(D) 1000

(E) 3000
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Lecture Five

IEIIRD

AHIRFRER
 =Z@AE5WmiaE
o FiT%
J
o Z{RJLIA
« ERLRFR

.= A 5WiAf (Triangles and Quadrilaterals)
= AT RRLEM R
-= AR A7 I180°
-ZAERBZMARTE=L, RBZENFE=IL.
=R, BRRANNBHRERX.

AR a’+b’=c’ (H filla, HfAilb, $ific)
ENUTRRINE A= AR RE:

J3 2 ' 1
60° g
1 Y 1 \ 3 Y
'pv- -Q..[ '.p» *-!q.’ 'pr— 'ﬂn.t
=Rl BR=Kx5

FEfZ (Rectangles) : MEFR =K x 5; K =2 x (K + %)
«IEF57 (Squares) : MR = 11K2; K =4 x 1K

I Y

I
. In the figure above, square CDEF has area 4.What is the area of AABF ?
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&
s 5 |
P~ :

(A)2v2
(B)2v2
(C)4
(D)3\3
(E)6

2. If each side of AACD above has length 3 and if AB has length |, what is the area of region
BCDE?

(A

®)53
(©23
O3
E)6+3
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3.In the rectangle above,AB = 6,AD = 8.f point P is selected from segment BC at random, what is

the probability that the length of segment AP is less than ?

(A

(B)@

CE

©>

€25

8

4.A ladder 25 feet long is leaning against a wall that is perpendicular to level ground.The bottom of
the ladder is 7 feet from the base of the wall. If the top of the ladder slips down 4 feet, how many
feet will the bottom of the ladder slip?

(A) 4

(B) 5

€8

(D) 9

(E) 15

5.1s quadrilateral Q a square?
(1) The sides of Q have the same length.
(2) The diagonals of Q have the same length.

252174k (Parallel lines)
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SE4T4 (Parallel lines)

MEZLEIT—BMNAMRS/AEARS/EZRNAE A
Bl :

I.In the figure above, if AB // CE, CE = DE,and y = 45, then x =

(A) 45
(B) 60
(C) 67.5
(D) 112.5
(E) 135

2. In the figure above, QRS is a straight line and line TR bisects »PRS. Is it true that lines TR and PQ

are parallel?
P
/v
Q R S
(I PQ=PR
(2) QR=PR

3.[& (Circles)

GEEY P E: EIR =T FK = 20
X
FBER CHEI: K = 2nr 360

E—ERERIANECBEEBE BN/ E
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R
I. In the circle above, PQ is parallel to diameter OR, and OR has length |8.What is the length of

minor arc PQ ?

(A)2m
)
7

@1
©)2r

(E)3n

2. In the figure above, A is the point of tangency for two circles and also the center of the third

circle. If the radii of three circles are |, what is the external perimeter of the figure?

N
a

(A
®n
(C)4n
©)an
E)b

TOEFL,SAT,IELTS,GRE,GMATE A EE X SR B B HIHFTREIRM (SmartStudy.com) 38


http://www.smartstudy.com
http://www.smartstudy.com
http://www.smartstudy.com
http://www.smartstudy.com

ERMW (SmartStudy.com) FKIBEGMATEFH FHF X

3. In the figure above, a circle is inscribed in a square with side b and a square with side a is

inscribed in the circle.What is the area of the square with side b ?

()a=4

(2) The radius of the circle is 22

AR
K F7fA (Rectangular Solids) : FFR =K x % x 5
«IEJ5A (Cubes) : 1 = WK T
[E#E (Cylinders) : AFH = AEAXR x KEFEHNET x5

I
|.What is the volume of a certain rectangular solid?
(1) Two adjacent faces of the solid have areas |5 and 24, respectively.

(2) Each of two opposite faces of the solid has area 40.

2.A grocer is storing small cereal boxes in large cartons that measure 25 inches by 42 inches by 60
inches. If the measurement of each small cereal box is 7 inches by 6 inches by 5 inches, then what
is the maximum number of small cereal boxes that can be placed in each large carton?

(A) 25

(B) 210

(C) 252

(D) 300

(E) 420
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3. The inside dimensions of a rectangular wooden box are 6 inches 8 inches by 10 inches. A
cylindrical canister is to be placed inside the box so that it stands upright when the closed box
rests on one of its six faces. Of all such canisters that could be used, what is the radius, in inches, of
the one that has maximum volume?

(A) 3

(B) 4

(©)5

(D) 6

(E) 8

5.FEE ALIRILA (Plane Rectangular Coordinate Geometry)

A L V) )
FEI: y=kx+b HH, k AFRE (Slope) , b/Iy%H#EKEE (Intercept)

k: YZ_YI
X, =X

AMEZLER, HFIRERN -

il -
I. In the rectangular coordinate system above, the line is perpendicular bisector of segment AB
(not shown), and the x-axis is the perpendicular bisector of segment BC (not shown). If the

coordinates of point A are (2, 3), what are the coordinates of point C?

(A) (=3,-2)

(B) (-3,2)
(©) 2-3)
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(D) (3,-2)
(E) (2,3)

2. In the rectangular coordinate system shown above, does the line k (not shown) intersect

quadrant I?

(1) The x-intercept of k is negative.

(2) The slope of k is positive.

3.In the xy-plane, does the point (4, 12) lie on line k ?
(1) The point (1, 7) lies on line k.
(2) The point (-2, 2) lies on line k.

4. In the rectangular coordinate system above, both of two tangent circles are tangent to the x-

axis. If the radii of the two circles are 4 and 6, respectively, what is the slope of the line on which

two centers lie?

¥

=Sh

o gy

>

Qo
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e
®. 5
©)5
©

®);

5.An isosceles triangle lies on the rectangular coordinate plane, the coordinates of point A are (0,

0), and the coordinates of point B are(3, I), point C could lie at one of 6 positions such that (I, 3),
=1,3), (=3, 1), (=1,-3), (I,-3), (3, —1). How many lengths of side BC are possible?

(A) 2
(B) 3
€4
(D) 5
(E) 6
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Lecture Six
X R

AT IREIRER:
o T{E[EM
o FE[EH
o /MM (XKE)
o /B (RIKE)
o HEFIAEAREM
o HEE(a]
o WRRFITE

| TfRiE &
I.A small water pump would take 3 hours to fill an empty tank.A larger pump would take 2 hours
to fill the same tank. How many hours would it take both pumps, working at their respective

constant rates, to fill the empty tank if they began pumping at the same time?

(A) 1

(B) 1.2
() 1.5
(D) 1.8
(E) 2

2. Six machines, each working at the same constant rate, together can complete a certain job in 12
days. How many additional machines, each working at the same constant rate, will be needed to
complete the job in 8 days?

(A)3

(B) 4

(€6

(D)8

(E) 9

2.5 B o) f
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I. Mary invested $14,000 for 3 years in a certificate of deposit paying 9.25% simple annual interest.
How many more interest would Mary have received if the interest rate on this certificate had been
9.75% simple annual interest?

(A) $21

(B) $210

(C) $420

(D) $2,100

(E) $4,200

2. A 2-year certificate of deposit is purchased for k dollars. If the certificate earns interest at an
annual rate of 6 percent compounded quarterly, which of the following represents the value, in
dollars, of the certificate at the end of the 2 years?

(A).067k

(B)I.06°k

(C).015%k

(D)I.015%°k

(E).03*k

3.EAEM (XK#)
[.All trainees in a certain aviator training program must take both a written test and a flight test. If
70 percent of the trainees passed the written test, and 80 percent of the trainees passed the flight
test, what percent of the trainees passed both tests?
(1) 10 percent of the trainees did not pass either test.

(2) 20 percent of the trainees passed only the flight test.

2. In a marketing survey for products some people were asked which of the products, if any, they
use. Of the people surveyed, a total of 400 use A, a total of 400 use B, a total of 450 use C, a total
of 200 use A and B simultaneously, a total of 175 use B and C simultaneously, a total of 200 use C
and A simultaneously, a total of 75 use A, B, and C simultaneously, and a total of 200 use none of
the products. How many people were surveyed?

(A) 950

(B) 975

(C) 1,000

(D) 1,025

(E) 1,050
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3. How many integers between | and 100, inclusive, can be divided by none of 2,3,and 5?
(A) 24
(B) 26
(C) 28
(D) 30
(E) 32

4.In a certain class, 10 students can play the piano, 14 students can play the violin, | | students can
play the flute. If 3 students can play exactly three instruments, 20 students can play exactly one
instrument, how many students can play exactly two instruments?

(A) 3

(B) 6

(©)9

(D) 12

(E) 18

I
5. A group of |5 people could speak Spanish, German, or French.5 of the group can speak
2 2

Spanish,E of the group can speak German, and 3 of the group can speak French. If only one
people can speak exactly three languages, how many people can speak exactly two languages?

(A) 3

(B) 4

€53

(D) 6

(E) 7

45 5O (FRI%E)
I.A shipment of banners contains banners of two different shapes, triangular and square, and two
different colors, red and green. In a particular shipment 26% of the banners are square and 35% of
the banners are red. If 60% of the red banners in the shipment are square, what is the ratio of red

triangular banners to green triangular banners?
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(Ao
®)>
(€
O

€

2. One-fifth of the light switches produced by a certain factory are defective. Four-fifths of the
I

defective switches are rejected and 20 of the nondefective switches are rejected by mistake. If all

the switches not rejected are sold, what percent of the switches sold by the factory are defective?

(A) 4%

(B) 5%

(C) 6.25%

D) 1%

(E)16%

5.HFFIH & B
|2 EBSDTENER T BN AENEETE, [ 23RN TEREAHLJLAHAR
E:SREI=EY
(1) 3P FEET EHE—E;
(2) 3P SREET BRI
(3) 3P SEETBERINF—E.

2. In a meeting of 3 representatives from each of 6 different companies, each person shook hands
with every person not from his or her own company. If the representatives did not shake hands
with people from their own company, how many handshakes took place?

(A) 45

(B) 135

(C) 144

(D) 270

(E) 288
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3. In how many distinguishable ways can the 7 letters in the word MINIMUM be arranged, if all the

letters are used each time?

(A) 7

(B) 42

(C) 420

(D) 840

(E) 5040
6.1 o] 7R

| —RABhEFSRERE, HB3HA®, 2R406. IMEHEEKVR, 88X, BEESR
BAE. K

(1) 23K 2 EHNETE,

(2) 2RKFERERIBTE;

(3) ELHIRBRRITER.

2. From a group of 3 boys and 3 girls, 4 children are to be randomly selected. What is the

probability that equal numbers of boys and girls will be selected?

(Ao

4

(B)g
|

(C)E
3

(D)g
2

(E)§

3. Six cards numbered from | to 6 are placed in an empty bowl. First one card is drawn and then
put back into the bowl; then a second card is drawn. If the cards are drawn at random and if the
sum of the numbers on the cards is 8, what is the probability that one of the two cards drawn is

numbered 5?
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(A)y

B¢

©);

©)3

2

®)F

4.21BHRRL, MEIRSEHARLMNARESD, BENMENZ D (DELMIAT)?

5. IMTFRMARRNAIRS, BRAAZHIMXHRA, BIENTFREBUKE AR
2

6.What is the probability that events A and B both occur?
(1) The probability that event A occurs is 0.8.

(2) The probability that event B occurs is 0.6.

7 IR RITF

I.The 10 households on a certain street have household incomes that range from $34,000 to
$150,000 and an average (arithmetic mean) household income of $60,000. If the household with
the highest income and the one with the lowest income are excluded, what is the average
household income for the remaining 8 households?

(A) $41,600

(B) $47,000

(C) $52,000

(D) $61,000

(E) $75,000

2. For the positive numbers n,n + |,n +2,n + 4 and n + 8, the mean is how much greater than the
median?

(A)O

(B) |

C)n+1
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(D) n +2
(E)n+3

3.The least and greatest numbers in a list of 7 real numbers are 2 and 20, respectively. The median
of the list is 6, and the number 3 occurs most often in the list. Which of the following could be the

average of the numbers in the list?

l. 7

II. 8.5

. 10

(A) I only

(B) I and Il only
(C) I'and il only
(D) Il and Il only
(E) I, 11 and I

4.The standard deviation of four numbers a, b, ¢, and d is M, then the standard deviation of which

of the following MUST be M ?

(Ana? Vb? N e
(B)a’,b%,c*,d?
(C)2a,2b,2¢,2d
(D)a+2,b+2,c+2,d+2
(E)a+2,b—2,a+2,d—2
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TRIEIAER

IR

AALEFASHEREETXNEEGHBES SN R mEES . 85HR. &
MZEESRISIEAN, HYBXRMERFS .

(==
EERDU
AAREEESRSHBEERNERRHRS O ZIXTERE eSS . E5H
7. BRBESINEAN. £BFS, RKRED

== s =E EN=]

B ERIRI I
AXEEEASNERERS R TEEHk. S, WfFHRERESOHITIR
HEWE “TRBERE SEAZWNRIEY TSR . KIEPEFERR
PHEERSFHFEN, MFARINRE. BEE, B2y, SRS
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TRIEIAER

A
HE%E
NEREFHRIBRNEA, ERiRit "EEAREEE . "EEAREBHRE
BE , 2EHBSCELMERENGEES . §5HE. SRSESKITA
9, —uHFS, RREE, BAER.

ZH

ZiRW ( SmartStudy ) ERBPARITIESFESKFEBFHBELIMIRIZA
&, IMFRRESEIAS, BEEZSEE. MaEFIEESMERERT,

IR MY ERIRD, BREZRNFITE.

=4 =

FIFR

RN (SmartStudy ) SRNERESTR. SBEN—EXHESRFI7
2. RAEEREESR, BHEIEYIAALESRSNERERRRS
FrERI MRS, 23, 53, BBk, B9, SRBHE.

SHPEIEBFIREFIFRVIP
REERRIGATIEBFREFIFRVIP
REERBPATEREAREFZIFRVIP
REFPEFREFIFRVIP
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HBREAREREF I EIEF O
SRR RN MENE
IBEMEEUIEE, AL
BREA R ER—1EREFS

AN
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NAg
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TRk

FERIRFEHNAREEZL
SZREEHITFERESmart-
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REFRIE

PrETRR S TANRIZER R R
SN2, BEROK
EEESHOEER

j;:\'T“)'fSIley

RN EBRE

VRSIHETR, Fi
BRESREFSTE, 7
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B “RHER AR
I, MRS
BB

B RAEIH
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